How Would You Describe a Window in the Kitchen Eating Area?

Simplify the expression, then cross out the letter pair next to the correct answer. For each letter pair
that you DON'T cross out, write the upper case letter in the box containing the lower case letter.
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€H The Quadrangle College Library estimates that the average book a 2.5 x 10°
on its shelves is 3.2 x 10~2 m thick. The library has a total of
8 x 10° m of shelf space. How many books will fit in the library? 9.7 % 10°

@ The speed of light in space is 3 x 10® km/s. Sirius A, the brightest E 2.5 % 105
star in the heavens, is 8.1 x 10’3 km from the earth. How many )

seconds does it take for light to travel from Sirus A to the earth? 2.7 x 104
EXTRA: Convert your answer to days. )
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